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7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 527 65.76 | FNLSY | 0.00 ~ 0.00| 1.62 819 Zh st 1.00 | 5.00 ~ b6.89 65.76 | ThLSY | 6,00 ~ 589 1.62 819
2 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 4.49 56.03 | FnS | 000 ~ 449 | 1.92 9.72 Zh st 1.00 | 5.00 ~ 56.00 56.03 | Th4 | 5.00 ~ 6.00)| 1.92 972
3 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 3.79 47.68 | ThS | 000 ~ 379|222 11.23 st 1.00 | 5.00 ~ b6.59 47.68 | ThUS | 5.00 ~ 659 | 2.22 11.23
4 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.54 69.19 | FnLSY | 000 ~ 554|219 11.09 st 1.00 | .00 ~ 871 69.19 | TS | 600 ~ 871|219 11.09
5 100kN/ Mm% 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.50 6865 | TnLst | ooo ~ 550|214 10.81 st 1.00 | .00 ~ 803 68.65 | TN | 6.00 ~ 803|214 10.81
P 100kN/mM%BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 6.63 83.63 | FnS | 000 ~ 663|202 10.20 zhLst 1.00 | .00 ~ 922 83.63 | ThUS | 5.00 ~ 922 2.02 10.20
- 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#FEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 378 47.55 | =ns | 0oo ~ 378|220 11.13 FhLst 1.00 | 6.00 ~ b5.44 47.65 | #hs | 6,00 ~ 644 | 2.20 11.13
3 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3mFHEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 4.00 50.16 | =nst | 000 ~ 400 2.09 10.68 Fhust 1.00 | 6.00 ~ 6.10 50.16 | =hLs | .00 ~ 610 2.09 10.568
9 100kN/ Mm% A5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#BZ % — - ~ — — |3m#FZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 441 55.01 | =ns | 000 ~ 441 1.98 9.95 Fhst 1.00 | 6.00 ~ 56.09 55.01 | #hLs | .00 ~ 509 1.98 9.98
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




